Expanded to Standard Form With Decimals (F)

Name: Date:

Convert each expanded factors form decimal number to standard form.

1 1 1 1 1 1
(7 X T565:000,000)

1,000,000,000
(5x1)+(3x ﬁ) + (2 x 10})00) + (6 x 1oo}ooo> + (8 x 1,00(1),000) + (2 x 10,0010,000) + (4 x

1 1
100,000,000) + (3 1,000,000,000>

(3x1)+(5x %) +(9 % ﬁ) +(6 % ﬁ) + (6% 100}000> + (5% 10,0010,000) + (8% 100,0(1)0,000) +
(2 X To50000090)

1,000,000,000

<9 X 1) + (7 X 1_10) + (6 X ﬁ) + (7 X Tl()()) + <9 X 10,%)00) + <6 X 100?000) + (5 X 1,00(1),000) +

(7 x 100,0(1)0,000> + (7 x 1,000,300,000)

(5x1)+(7 x 1_10) + (4 x Wlo) + (7 % T100> + (1 x 10})00> + (6 x 100?000) + (7 % 1,00(1),000) +

1 1
<4 X 100,000,000) + (8 X 1,000,000,000)

(5x 1)+ (4 x 1_10) + (3 x ﬁ) + (6 % Tloo> + (1 x 10})00> + (7 x 100%000) + (5 % 1,00(1),000) +

(5 % 10,0010,000) + (7 % 100,0(1)07000> + (3 1,000,(}00,000)

(7 x 1)+ (1 x 1_10) + (1 x ﬁ) + (8 x T100> + (3 x 10})00> + (5 x 100%000) + (1 x 1,00(1),000> +

(2 % 10,0010,000) + (5 % 100,0(1>0,000> + (3 x 1,000,(}00,000)

(8 x 1)+ (1x %) + (3 x ﬁ) + (2 x ﬁ) + (6 x 10})00) + (3 x 100%000) + (2 x 10,0010,000) +

(4 100,0(1)0,000> +(2 % 1,000,(}00,000)

(9><1)+(9><%)+(7><ﬁ)+(6xﬁ)+(9xm)+(3xm)+(8xm)+

1 1
(3 100,000,000) + (7 x 1,000,000,000)

(6><1)+(7x%)+(6xﬁ)+(6xﬁ)+(9xm)+(4xWlmw(z}xmw

(9 100,0(1)0,000) + (7 X 1,000,(}00,000)
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Expanded to Standard Form With Decimals (F) Answers

Name: Date:

Convert each expanded factors form decimal number to standard form.

1 1 1 1 1 1
(7 X T565:000,000)

1,000,000,000
(5x1)+(3x ﬁ) + (2 x 10})00) + (6 x 1oo}ooo> + (8 x 1,00(1),000) + (2 x 10,0010,000) + (4 x

1 1
100,000,000) + (3 1,000,000,000>

(3x1)+(5x %) +(9 % ﬁ) +(6 % ﬁ) + (6% 100}000> + (5% 10,0010,000) + (8% 100,0(1)0,000) +
(2 X To50000090)

1,000,000,000

<9 X 1) + (7 X 1_10) + (6 X ﬁ) + (7 X Tl()()) + <9 X 10,%)00) + <6 X 100?000) + (5 X 1,00(1),000) +

(7 x 100,0(1)0,000> + (7 x 1,000,300,000)

(5x1)+(7 x 1_10) + (4 x Wlo) + (7 % Tloo> + (1 x 10})00> + (6 x 100?000) + (7 % 1,00(1),000) +

1 1
<4 X 100,000,000) + (8 X 1,000,000,000)

(5x 1)+ (4 x 1_10) + (3 x ﬁ) + (6 % Tloo> + (1 x 10})00> + (7 x 100%000) + (5 % 1,00(1),000) +

(5 % 10,0010,000) + (7 % 100,0(1)0,000> + (3 1,000,(}00,000)

(7 x 1)+ (1 x 1_10) + (1 x ﬁ) + (8 x T100> + (3 x 10})00> + (5 x 100%000) + (1 x 1,00(1),000> +

(2 % 10,0010,000) + (5 % 100,0(1>0,000> + (3 x 1,000,(}00,000)

(8 x 1)+ (1x %) + (3 x ﬁ) + (2 x ﬁ) + (6 x 10})00) + (3 x 100%000) + (2 x 10,0010,000) +

(4 100,0(1)0,000> +(2 % 1,000,(}00,000)

(9><1)+(9><%)+(7><ﬁ)+(6xﬁ)+(9xm)+(3xWMH(MWH

(3 100,0(1)0,000) + (7 x 1,000,300,000)

(6><1)+(7x%)+(6xﬁ)+(6xﬁ)+(9xm)+(4xWlmw(wmw

(9 100,0(1)0,000) + (7 X 1,000,(}00,000)
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